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Code No. 34-NS
{ English Versiom )

Instructions : i} The question paper has four Parts.
il) Parts A, B, C and D are commen to all the candidates,

il) Part A carries 10 marks, Each question carries one mark.
Part B carries 20 marlks. Each question carries fwo marks.,

Part C carrles 40 marks. Each question carries Jfive marks.
In Part D — D |, carries 10 marks and D g Carries

10 marks, Each question of D . carries five marks.

L b
iv) Write balanced chemica! cquatiohs and draw diagrams

wheréver necessary. &

PAI-QT - A (_I

L ]

Note: # Answer all Lh\(léAQr_inns.

i) Quesuonﬁ,.‘b to be answered in oneiword or in one
ksenté% h, Each guestion carries gne mark.

10% =10

1. Name the process used for desilverisation o’ lead,
2  During eivctrolysis of brine H* ions get discharged in preference to
sodium ions. Give the reason.

3. Give an example of a complex where a igand satisfles both the primary

and secondary valencies of the metal ion.
4. Define Threshold energy.
5. What is the pH of 10-2 M NaOH ?
[ Turn over
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6. What happens te t

Pressure of 4 liquid when g non
solute is dissolveq in {1 7

Name the lina} Praduet formeg when g Primary amine is Subjected 14
alkylation.
.

8. Write the genera; e

Quation for Wurts reaction,
9.  Give the struetyra] ‘ormula of Pyrogalio].

10. What is meant by d-s-:::ar,uratmn qf_g_prnte!n 7

PART - B
F L]
Note : f 1 Answer any o, qui@

‘Bach question Qﬂﬁes fwo marks,

L1, Witk the hell of Bl .. \

Zidngham %ﬁm “xplain why Alumirgju

i

red ucing adenfii

12. Hew does cone, é‘t;,,l_pf:'}:‘ic
equatior; :

13. Calculate EAN

14. Sketeh the shape of Sigma bg

nding ang antthﬂnding Moiecular orbitalg
when S-atomije orbitale overiap.

15, Showr that the rate

Q
)
W

onsidered hoth as a Lewig base and g
Bl‘f'insted Dage



I .

17.

18.

20.
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22.

11 . Code No. 34-NS

Calculate the number of particles present in the unit cell of BCC.

Give any fwo differences between an ideal sclution and a non-ideal

solution.

How do you convert chloroethane to ethanaic acid ? Give cquaiions.
L3

What is Sache-Mohr theory of strainless rings ?

How is a pdmary amine prepared by Hofmann's bromamide reaction ?

Write the Haworth's structure of a-maltose,

PART -~ C
Answer anv twe of the following qucsﬁolﬁ-;o& 2x5=10

23. a Draw a neat labelled d 1 of blast furnace used in the

24,

25,

b}

bj

bj

extraction of cast \ ve the chemical reactions that take

place in the diffi nes of the furnace. 3

Write the _s&e of tetracarbonyl nickel o) complex. Indicate

the type of hybridisation undergu.ne by ihe central metal atom. 2

FHow is potassium dichromate manufactured {rom chromite

ore ? ; 3

How does electron gas theory explain the bright metallic lustre

of metals ? - 2

Write the electronic configuration of oxygen molecule. Explain

why oxygen moiecule is paramagnetic. 3
Explain ionisation isomerism with an example. 2
| Turn over
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. Answer any three of the following questions - 3x5=15

26. al Differentizte Setween inductive effect and meszomeric effect. 2
i ' )
b)  Explain geometrical isomerism with one example, 3

27. 3) Expiain the mechanism of nitration of benzene. 3
b}  Give the stiuctural formulae of (i) Lysine (i) Proline. 2

28. a) How does phenol react.with

# bromifie vrager

i) dil nitric seid 2 6® 3

b}  Explan s n b rmechanism with ple. 2
-]

29. a  Write the s!.ructurai\@ia of tristearin, What happens when

tristearin s hearp@

) 4 gv.deh) ¢ acid and steam

i}  KOH soltatipon 7 3
bl Whatis a reducing sugar ? Give one example. 2
L. Answer any three of the following questions 3x5=15

30. a  Write Arthenius equation and explain the terms involved in it.
The specific reaction rate of a reaction increases by a factor 4 if
the temperature ie changed from 27°C to 47°C. Find the

activation energy of the reaction. )

b) Howis Brownian movement caused 9 1

Visit www.shaalaa.com for more question papers.
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Derive Henderson's equation for the pH of an acid suffer. 4
What is dialysis ? 1

".
40 mg of NaQH 1s dissolved in 10 lire of the solution. What is

the pH of the solution ? ‘ 2

Define conjugate acid-base pair. 1

fecting u

What are the faci6fs. e sifigie electrode potentials 7 2

The vapodr pressure of pure benzgfaha ceftain lemperature

i3 200 mm/Hg, At the same ter(gyature. the

Apour pressure
jon-electrolytic

solid in ¥8 gm of b@ {s 195 mm/Hg, What
5 |

miass of tha s

. ..
cf a solution ccnuﬁnﬂ‘\!b’g' a non-volatile,

the maolacular

Give two differenceSvag] tlie#dnd lyophobic sols. 2

Give any three assumptions of Arrhenius theory afl electrolytic

o

dissociation. "

The standard free energy change lor a reaction is 62 kJ/mole.

Calculate the equilibrium constani. at 300 K.

[R=8314JK ! mol~ '] 2

[ Tum ever
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PART - p

IV. Answer any ore of the foﬂ:wmg ; ' ' Ix10=10

35, g) Write the electroaie configuration of 3d sertes of elements.
Hence explain

b Why gy 1017 and Se 8+ jo, are colourless,

H  2Zn2-jions are iammg_mc I8
b  Explain the mpc:h Tiem of Cﬁnnfzz.a:'as mactmn 3
L B | Deﬁna“’ﬁ‘nu-cp V. What happen mtz‘opy when g gas

und_#‘rgﬂes ExPaasion 7

1) What is meant Y co-prdinafion fumber ? What 15 ¢pe
i -ordination 4. lr’rt\ € lon if rading ratia of the erysta)
— i‘i 0.53 ¢ ' 4

36. a How is a mi;ctq'\Qp?h gases separated by Iﬁewa.rs charcoa]
; 3

adsorption mem

B How does a monocéﬁ‘*@xﬂ_ﬂ_p acid reactewith

}  alcohols

4 ammons 7

Give equations ang Reme the organie products formec! these
reactions, 3

¢} The SRp values of Aluminiym and Magnesiym electrodes are
- 166 V ang .. 2:37 V4 SSpectively, Represent the galvanic cepl
constructad using these €lectrodes, Calculate the free energy
change for the cell reactie

[ faraday (F)=2986500 toulomb | a

i apers.
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o

2
Answer any two of the following : 2x85=10
37. a Howis p-brikno aeet orem 6¢ from gcetanibide in he

laboratory 7 3

5

b}  Give a geperal test for o mrboh;*;i@@

38. Describe 3 I-i._ sis of methyl

b experiment to a‘u‘?bgr' acid hydro
fArst order reaf:m{b

mation ol peidalium Dermanganate
®

5

39. For the esti Ising standard

hade solution —

i} name the indicator used

V) what is the calour change a7 the =nd pom 2+ laelm]



